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In the flowchart the end if is the 
circle.
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In most programming languages
the move "OKAY" to msg would be
written as msg = "OKAY".
The OKAY literal is enclosed in 
quotes.



c12012Sep3014.notebook

4

October 01, 2014

This can be written using simple if
statements or using a compound to
say if both are true set msg = "OKAY"
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Since these are the same
I can use a compound and
under the else I can move
the literal problem to msg.
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One of the N does
nothing and the
other moves
a literal.
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Now I am starting to look
at OR relationships. In this
example I want to do the
same thing if either of the
conditions is true so I can
use a compound.
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Since they are
the same, I can
do a compound.



c12012Sep3014.notebook

14

October 01, 2014

Here the actions
are different 
depending on which 
condition gets the yes 
so I cannot do a 
compound.
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This is the situation where one 
thing (invcd = A) has to be true 
and either of two other things.
Since the actions are the same
I can do a compound. See
next slide.



c12012Sep3014.notebook

16

October 01, 2014



c12012Sep3014.notebook

17

October 01, 2014



c12012Sep3014.notebook

18

October 01, 2014

Another way to code it using
two if statements.
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If I leave out the parenthesis the logic 
will look like this ­ NOT THE RESULTS 
I WAS LOOKING FOR
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A simplified version of the previous slide
but still NOT THE RESULTS I WAS LOOKING
FOR
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To be considered a programming language, the 
language must support all of these structures.
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In this logic if the condition gets a no it is
possible to drop out without ever processing.
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Since I process before I test, I will always do the processing once.



c12012Sep3014.notebook

26

October 01, 2014



c12012Sep3014.notebook

27

October 01, 2014

The initializing or priming read takes in the first records.  
All other records are read with the read inside the loop.  Notice that it is 
done just before I go back to check. So if the read is not successful, I will
not do anything before I check and then leave the loop and stop.
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Here doing the loop is controlled by a counter.

Be sure to read this list.
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Here EOF controls ending the program ­ when all the records have been 
processed then the program ends.
With the counter, the counter controls the end and when it reaches the 
number you want it stops.
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